5 S

ISO CYLINDER

1fEFRETIE, R EMm .

2 .RiJ5 &= 18 A BN IS 38 T it 5.
3L NEERXBREEIHO-1.5SIAT,
PRIETE 8 W IE.

4B EAUHSHE R E B

$125, ¢140, 160, $ 180, $200

PSCS%7I

ME=E-FAR |

=S, AT B HTurbin 0il#90

1~1.0kg/cm?

15kg/cm?

500mm/sec

-5° C~+80° C

FABEET

+1.0 +1.4
-0(~300mm) -0(~1000)mm

it A &

25.50.75.100.125.150.175.200.225.250.
300.350.400.450.500.600.700.800.900.1000

125 $140
$160 ¢180
$200

BRKAZE2000

PSCS] - - [100] X [300]

[1]

@ @ ® @ ®
@) REAR LB,FA,FB,CA,CB,TC,Y,I
® 1z $125,140,160,180,200
@ 1T 2MBAFY, EfImm
® FimiEk I BESLY. YRS S

609

5 E O 31 R R //ﬂNEM,AN

X+4772
A . WF LL+{7%2 (M)
C | .v |.GA, 2-EE GB|
oMM QA QB
I |
N — , BF
S el — ¢
il ;
3 KK I e
TF MF
4-0FB _ME_ _
UF — w XB+#7%2
il
_ :
<
C
Z
o]
$125(50|M14X1.5| 47 [140|RC1/2|19| 32 | 29 | 57 [140,M30X1.5| 92 | 18 [ 14 [ 35 [110(14.5 m
$140(50|M14X1.5| 47 [157|RC3/4|19| 36 | 36 | 57 [157|M30X1.5[103| 18 | 19 | 35 [124|16.5 _,
i
$160(56|M16X1.5| 53 (177 |RC3/4|19(38.5| 36 |62.5[177| M36X1.5[106| 20 | 19 [ 40 [142|16.5 E
$180(63|M18X1.5| 60 |200 | RC3/4 |24 |39.5(38.5|68.5[200] M40X1.5|110| 23 | 25 | 45 [160[16.5
$200|72|M20X1.5| 69 |220|RC3/4 |24 |44.5| 45 | 75 [220 M45X1.5|123| 24 |25 |50 [175(17.5
$125| 15 [100| 18 [190|230[45.5| 50 | 64 |224|124| 94
$140| 17 [112| 18 [212|250(45.5| 47 | 66 |237|140]| 94
$160| 17 [118| 21 |236(280( 48 | 51 | 70 [252|145[107
$180| 17 [132] 24 |265|310| 53 | 52 | 77 |273|158(113
$200| 18 [150| 27 |280(330| 60 | 62 | 87 [306|172|131
610




5 S

ISO CYLINDER

BA=E-FBE |

X+f772
A . WF LL+{7%2 MF K
c [ vV IGeA 2EE GB 0N
oMM oa ‘QBki
T 1] |
LN L ‘
f"‘“*“ffggff“ff“**k** —1P e LR
1 1
agi= 47Amgggffgggg_,ggg,fgggg_,é@p,, we |®g ol
24 ‘*ﬂ | X
o | G| | |9l v 00
- 4-0FB TF ‘
ZR+{772 UF

¢ 125 M14X1.5 140 |RC1/2 140 | M30X1.5

$ 140, 50 [M14X1.5| 47 | 157 [RC3/4| 19 | 36 | 36 | 57 [ 157 [ M30X1.5 (103 | 19 | 35
$160| 56 [ M16X1.5| 53 | 177 [RC3/4| 19 |38.5( 36 (62.5( 177 [ M36X1.5 (106 | 19 | 40
$ 180, 63 | M18X1.5| 60 | 200 [RC3/4| 24 |39.5|38.5|68.5( 200 | M40X1.5 [ 110 | 25 | 45
$200| 72 [ M20X1.5| 69 |220 (RC3/4| 24 |44.5( 45 | 75 [ 220 [ M45X1.5 (123 | 25 | 50

$ 125/ 110 | 14.5 100 190 45.5 170
¢ 140 124 |16.5| 17 [ 112 | 18 | 212 | 250 [45.5| 66 | 94 | 238 | 188
¢ 160, 142 |16.5( 17 [ 118 | 21 | 236 (280 | 48 | 70 | 107 | 251 [ 195
$ 180, 160 |16.5| 17 [ 132 | 24 | 265|310 | 53 | 77 | 113 | 275 | 212
$200, 175 |17.5( 18 [ 150 | 27 | 280 ( 330 | 60 | 87 | 131 | 307 | 235
611

GO 3 AR R  EUMAN
PSCS#%7l
R TE |
sc+isRe
A WF LL+{72 ;
c V_ | GA, 2EE GB,
“OMM “laa B
X
/ 24 4
KK _————————————————
o ao| | Au 2] lao
TS 4-0AB SB SA+f7H2
2
$125 M14X1.5 RC1/2 140 M30X1.5 E
0
$140| 50 [ 19 |100| 20 | 8 | 50 | M14X1.5| 47 |RC3/4| 36 | 36 |78.5| 57 | 157 M30X1.5 %
I
$160( 56 | 19 |106| 20 | 10 | 53 | M16X1.5 | 53 |RC3/4(38.5| 36 |88.5|62.5|177| M36X1.5 |:
P
$180| 63 | 24 |125| 27 | 10 | 60 | M18X1.5 | 60 |[RC3/4|39.5(38.5|100(68.5|200 M40X1.5 E
$200| 72 | 24 |132| 27 | 12 | 62 | M20X1.5 | 69 [RC3/4|44.5| 45 |110| 75 |220 M45X1.5 "
&L
b

$125/ 9

110

14.5

182

100

140

45.5

$ 140

103

35

124

16.5

203

16

18

112

157

45.5

66

160

106

40

142

16.5

212

17 | 305

21

118

177

48

70

180

110

45

160

16.5

230

17 | 337

24

132

200

53

77

$200

123

50

175

17.5

247

25 | 371

27

150

220

60

87

612




5 S

ISO CYLINDER

PISIZAREY i EE-TCE

X+17%18
A __WF AR ]
c v lea 2 GB
oMM QA | ZEE o
I \
ﬁ === -
=]
Am D ] _
= D
2 ‘ %
KK | — (S A,
XV+ —ﬁf | C‘E | XL ﬁf )

$125 M14X1.5 RC1/2 140 |M30X1.5 110
$140( 50 |M14X1.5| 47 | 55 |RC3/4| 36 | 36 | 57 | 157 [M30X1.5| 103 | 18 | 35 | 124
$160| 56 |M16X1.5( 53 | 60 |RC3/4(38.5| 36 |62.5| 177 [M36X1.5| 106 | 20 | 40 | 142
$180| 63 [M18X1.5| 60 | 65 |RC3/4|39.5|38.5|68.5| 200 IM40X1.5| 110 | 23 | 45 [ 160
$200| 72 |M20X1.5( 69 | 70 |RC3/4(44.5| 45 | 75 | 220 [M45X1.5( 123 [ 24 | 50 | 175
ENENEEEEEE
¢ 125 14.5 150 170 | 150 45.5 110
$140(16.5| 17 18 | 154 | 36 | 190 | 170 | 262 |45.5| 66 | 237 |69.5(117.5
$160(16.5| 17 | 21 | 190 | 40 | 212 [ 190 | 292 | 48 | 70 | 252 | 73 | 128
$180(16.5| 17 | 24 | 210 | 45 | 236 (210|326 | 53 | 77 | 273 | 78 | 132
$200(17.5| 18 | 27 | 242 | 45 | 265 | 242 | 355 | 60 | 87 | 306 | 85.5(148.5
613

FTEAH S| Wk ok

NEU1IAN
PSCS#%J7l
DHEED o H RER-CA CB |
4 - N\
XCH77
A WF LL+{7%2 CF
[} \Y GA 2-EE o
e L
: T oo
s b
KK e 1 f RMR
MM cc
XD+{772 T
;7\ /N
// \\
L N e A ‘
\ 8-B 8-B /
\ 0K 0K ,/ il
N LN N // 5
| | :
<
RTINS s z
m
eI HIH e [ ] oo 2
iy ‘ | ‘ I
& @ $ & (? $ o
[Ew:st
B84 ﬂ:ﬁ;}
- J - J

$125 M14X1.5 RC1/2 140 |M30X1.5
$140| 50 |M14X1.5( 47 40 28 22 [RC3/4| 36 36 57 | 157 [M30X1.5
$160( 56 |M16X1.5| 53 40 32 24 (RC3/4| 40 |38.5| 36 |62.5| 177 [M36X1.5
$180( 63 [M18X1.5| 60 55 40 25 [RC3/4| 50 | 39.5|38.5|68.5| 200 [M40X1.5
$200| 72 |M20X1.5( 69 55 40 30 [RC3/4| 50 | 44.5| 45 75 | 220 [M45X1.5
$140( 103 | 35 | 124 | 28 | 16.5| 17 18 [45.5| 66 | 322 | 244 | 72
$160( 106 | 40 | 142 | 32 | 16.5| 17 21 48 70 | 339 | 251 80
$180( 110 | 45 | 160 | 40 | 16.5| 17 24 53 77 | 380 | 277 | 100
$200( 123 | 50 | 175 | 40 | 17.5| 18 27 60 87 | 412 | 300 | 100

zans | [raes ﬁ

614




5 S

ISO CYLINDER

[ scome

YRGS

F5Erela SRR

NEUTIAN

---------

$125 M30X1.5

$ 140 53.1 M30X1.5 35 40 30 18 30 72
$160 63.5 M36X1.5 40 45 35 21 35 80
$180 69.3 M40X1.5 47.5 50 42.5 29 42.5 100
$200 80.8 M45X1.5 47.5 50 42.5 29 42.5 100

N
N
AN
N
\
\
A
. B 1 C
I
— el
E=a
/ s
/. A B
’
7/
Ve
7
7

ARS8

gamE | | BakE i BARS I d3aaNITAo B

$125 66.3 1.35 23.9

¢ 140 84 50 50 74.7 1.65 90 36 28 60 46 26.6

$ 160 92 60 60 82.7 1.35 105 40 32 70 55 30.3

$ 180 115 65 65 103.2 1.9 115 50 40 85 60 38

$200 115 75 75 103.2 1.9 125 50 40 85 70 38
615

616
IV-B-4




